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S is taller than A and ¥ 15 tailer than ©
but shorter than V. § rter than C, so
who is the tallest among them ?
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By which letter, the people who live in
joint family but are neither married nor
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In the following lll_l_B!Ian. a word has
been given, followed by four other
words, one of which cannot be formed
using the letters of the given word. Find
that word.

APPLICATION

(A) POLONIA (B) POINT

(C) OPTICAL (D) ANTIC

T AT ) & witE o e 6 o,

wigrf 4 vl s s 1 AR R | 4 B x
1 & RS @7t 2w wE WA W |
6 AR x 1 FA 7 =G D werw o O H
T # | 6 Bedt x4 F Y A G AR
ROAAME | =i &1 | &6 g w
6 TR T (6 Fft Y ), | Ffl g et
4 WU A (4 30ft 1 F) & fornfora faven
k| ¥

=R = 3R R o A e R
T 7t et e w9

A cuboid shaped wooden block has 6 em
length, 4 cm breadth and 1 cm height.

Two faces measuring 4 em x 1 em are
coloured in black. Two faces measuring
6 em x | cm are coloured in red. Two
faces measuring 6 em x 4 cm are
coloured in green. The block is divided
into 6 equal cubes of side 1 cm (from
6 cm side), 4 equal cubes of side 1 cm
(from 4 cm side).

How many cubes will remain if the
cubes having black and green coloured

teachers are represented ? are removed 7 o o
(A) S B) R (a) 16, (B) & @
) Q o T © 12 ‘(D) 4
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A puzzle enthusiast is trying wl

remember a code to unlock a mysterious
box. He recalls the following details :

l.  The code starts with 3.

2. The code ends with 729.

3.  The second digit is twice the first
digit.

4, The third digit is half of the second
digit. |

Now, idering these it the

enthusiast has narrowed down four

potential codes for the mysterious box.

Find the suitable one.
@ 363m9 (B) 324729
(©) 342729 (D) 336729
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In the question below three statements
d by two I bered 1

and II are given. You have to assume

everything in the statements to be true,

then consider the two conclusions

together and decide which of them

logically follows beyond a ble

doubt from the information given in the

statements.

Statements :

L Rabmdmnalh Tagore wrote many

poem:
1L Every poet  has  asethetic

- knowledge. L
1L Aui.;mem is a part of axiological

Concluslon_u

I, Rabindranath Tagore did different
axiological study.

I He followed the base of logic and

ethics
(A) Neither I nor 11 follows.
(B) Only conclusion I follows.
(C) Both [ and II follow.
(D) Only conclusion I follows.
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Find out which of the figures (1), 2), (3)
and (4) can be formed from the pieces
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‘A is B's brother. C is D's father. E is B's
mother. A and D are brothers. How is E
relatedto C 7

(A) Wife (B) Sister-in-law
{C) Niece (D) Sister

12, =% fawew w4 ot fag e wdew 6 i
o & 6 frerm-gem g |
Choose the alternative which closely
resembles the mirror image of the given
combination,
REASONING
(A) DMIMOSAIA (B) OVIIAOZ2430
(C) HAAAZOUIAL (D) HEV20UIUD
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There are twelve dozen of apples in a
basket. Two dozen are added later, Ten
apples got spoilt and are removed. The
remaining are transferred equally into two
baskets, How many are there in each ?
(A) 168 (B) 89

(Cy 158 Dy 79
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A crate of mang @
mango for every 30 mangoes in t'h.e crate.

If 3 out of every 4 bruised mangoes are !

considered unsalable, and there are 12
unsalable mangoes in the crate, then how
many mangoes are there in the crate 7

X

(A) 480 (B) 320

2o
A

(C) 420 (D) 240
Frfefm # @ 9 w1 faere 1 fog g
T AN FAET ?
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Which of the following q’)ﬁm would be
meaningful order of the following words 7
1.Birth 2, Death 3, Funeral

4, Marriage 5. Education

(A) 4,53, L2 (B) 1,54,23
(© 2,3,451 (D) 1,3,452
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12 fB) Rightto Equality

18,

19

;

follows - !
(A) lenﬁt;:gnsumnunslm

) Right against Exploitation
(D) R:gb,t:ﬂ'lmdom of Religion
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Wch oflhe.t‘ouwmg days is oelebme(
as “Intemational ers” Day” 7

(A) SI“Dmubcr(B] 1¥May

25" November (D) IG“Aumm_;
ﬁwﬁﬁiﬁ%mmmmi_.
Cigmir i
Wy SRt E®) AR e
© fRkwds (D) whiwde

Which of the following Acid is pment—
in Spinach 7

(A) Oxalic Acid (B) mendi-
(C) Citric Acid (D) Acetic Acid
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written on which of
Military Stalwart ? 1=
A) PVCCapt. Vikram B |
) Field Marshal Sam Manekshaw |/
(C) Field Mershal K.M, ©
(D) CDS Bigin Ravat - _ri2PP®
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(D) 3T 3R ety w7l oot woreny
The responsibility of the regulatory and
administrative framework for corparates
in order to make them -effective
contributors to national devel

falls under which of the following
Ministry of India ?

(A) Ministry of Co-operation

EB) Ministry of Planning

iz} Mlmslry of Corporate Affairs

D) Mini of Housing and Ui
= Affaljr‘:.y ™ o

sitfes SrgEUR wETTEn (gen Wi
frefafan ddwel Rt o

(A) *F ®)

(C) AT Eusy

The Physical Research Laboratory (Main
Campus) is situated at which of the
following places ?

(A) Mysuru (B) Pune

(C) Ahmedabad (D) Bengaluru
I e § g 9T A (TEde) &
Torw wudh F w3 7

What is the contact number for Women
Power Line (WPL) in Uttar Pradesh ?

(A) 1044 (B), 105

(€©) 114 ) 1090
“ureeTgw I frefefes § @ B
T HARE?

() T & s

(C) wales (D) sifem
“Mamallapuram Utsav™ is a festival of
which of the following states ?

(A) Gujarat (B) Tamil Nadu
(C) Kamataka (D) Odisha
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i the central government 7
(A) | Tax Expenditur’
(B) Reyenue Ext
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many Mahajanapadas were

ﬁwu Tw elve
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Which of the following is the highest-
ranking Police Officer in the districts of
Uttar Pradesh (except Commissionerate) 7
(A) DCP (Deputy Commissioner of
Police)
(B) PSI (Police Sub Inspector)
(C) ACP (Assistant Commissioner of
Police)

(D) 8P (Superintendent of Police)
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Which of the a:ci%m crop is not a
¥ sl

kharif crop ! ek '

(A) Soyabean (B) Groundnut

(C) Wheat Amwu guﬁn
§ & #9 §1 §CUME WRA W1
g ? _

(D) SETEET nmm,ﬂﬁa
Which of the q_c_._.:s._._._m kot i i Tarpmt
container port of India ?

(A) New Mangalore Port
(B) Kochi Port

(¢) Kandla Port

(D) Jawaharlal Nehru Port
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off the Non-Co-operation Movement E_u.‘
_DMN_ due to i?m% .Oﬂ the ._—.O:,Déﬂ

t

incident ? - A
(A) Partition of Bengal e
A s Y
(B) Chauri-Chaura Incident E 5
(C) Lala Lajpat mw.E Lathi Charge &
Incident 1 S
. (D) Jallianwala Bagh Massacre
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The famous UNESCO site Bordeaux,
Port of Moon is situated in which of the
following country ?

(A) China (B) Austria

(C) France (D) CostaRica
TR §, e A G IR
(e =) Prefitaa d A P e w |
wifad?

@ ¥ () wH-dw

(©) TmwE (D) W

"““In Uttar Pradesh, the Government
~ Freedom Struggle Museum (Shaheed

Smarak) is established in which of the
following location ?

(A) Meerut (B) Chauri-Chaura
(C) GangaGhat (D) Mathura
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..m . o Il -
| The International Labour Organization
** (ILO) launched the World Day against
© Child Labour in 2002 to focus attention
on the global extent of child labour and
. the action and efforts needed to eliminate
. it. Each year on which date World Day
. against Child Labour is observed ?

(A) 7" August  (B) 1° May

(C) 5% July (D) 12 June
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. Which of the following special force is

.

I S B @ ¥ 5\ & A PMJAY % | mandated as the elite agile force to
; - respond to hijacking and similar securi
i o forg 2023 FgemRoa BT 2 | 5 v ons on airceraft and airports ? o
(A) 3w (B) @A qa = (A) NIA (B) RPF
C) CBI NSG
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Uttar Pradesh has recently bagged |™' ! -
awards in 2023 for its execution of | Frferftaa 3 @ for foret & 1 7 oft 2
PMIJAY in which sector ? . (A) TETETETE (SRTRRS
(A) Industries  (B) Healthcare . (B) s .
(C) Education (D) Agriculture - (©) W@
TR (D) AR
&-
3 [ 2001 F TN, I I T FY . The Board of Revenue, Uttar Pradesh
T fema = R 2 v nmsw:w:& in which of the
. ; . ollowing districts ?
P o ar, vorell sexnatio of Uttar | % (4) " Allahabad (Prayegrsj)
Prade: uWnO.UH‘. g o Census 20117 | Amu Varanasi
(A) 982 (B) 892 (C) Meerut
© 912 (D) 812 (D) Lakhimpur
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o ﬁﬁﬁwﬂ;&t‘mxw&xw __\ ﬁ 3= T 1301 | R Aﬁ %u%ﬁﬂ«m%w@nﬂaz 7E.1078 111 mﬂ@@mq@ﬁﬁﬂﬂﬁ

HEaah - " - e 1 oy, 9 et 2 | gy ol T 6 Tl A W wwa @ [t sl I
Simplify : 108+36x7+5x7 Mowhm TE, Ema 0 M © Aﬁiﬂuﬁ%%mm&mﬂgf forma al ¥ ol ot & h@@#:ﬂﬁ%
Ay e @\mg 3 A i fww  Q — D e d, 303 AT R qﬁ%@ﬁ?@i: 3
(C) 455 (D) B2~ -, _ - =8 w1 fem Fa HIRA | Q. Nos, §s=_ me&an@gg_ga
94. WM I o - o L d o ._,?rwfar Mohan and Shyam undertake to do a |answer'the
gy & e T 1301 between Mihir 'and B piece of work for ¥ 800. Mohan alone [Number of omb&%sm mﬁﬂnmﬁm unn man_;ﬂ
5.061 +3.98 +0.703 : ot P Diptesh, so that the amount of Mihir = = SW\Q._' can do it in 6 days while Shyam alone [I0 @ competitive examination .de
mﬁ_c_ns" fier 7 years is cqual to the amount of w < 4= can do it in 8 days. With the help of states over the wnmaﬂnnﬁn:on&ﬁgn BE«
iptesh after 9 years, the Eﬁdﬂ..&nﬁm.. s F Ramesh, they finish it in 3 days. Find the T/ State | o/ Year WL Ta
ded at 4% hare of Shyam. WL [ 2000~ X
_ _d_m,x_zmh:w P g Ma mwfuﬁ (B) 2300 \m,..m e/ | o/ | e/ | %
(A) %676 B) 620 E'a: (C "¥325 Vo T 9 A J%a \WMT >3%\ w_.
C) 653 ) 6 15,2025, ....... ;mw&dfwﬁ%\v m_m S T 9200 | Hithog
¢ the i : 5 o @Eupm:w terms are there between D mxs 960 WMMQ 1250 |~
To0. ) sfiies, fagne fAm : 4 2 1872038, .. 1357 Q«mm. E 7500 | 860 [ 7700 | _ 950 a :
@ & | s, ot 0 B s 6. & & = D B SR I Year NVl
: Ao 1 | state 2003 2004 2005 |
15§ | 2 v i fam o, Brmgm \% ﬂﬂﬂ_ﬁwﬂﬂmﬁwg.w» | A | e [T | 07| WP g
et o1 % | P Blw s Pl et w s S ( o S mw,%ﬁﬁﬂs@ DY AT 720 a0pl 30001 0o el |
g ¥4 H, uimq?:m%w_?ﬁﬂMw\. e A T v B_| (840 F930] To5008 om0 1000 .
the ratio of 3.5 If P @ aD‘ tiwhR ™ | C_[_7600] 8550] 1 700
- nnH;_do __v_: o femr fpam 2 2 L 1 >mm§mm55amoﬂ:cman§w_og<ﬁmm D_.| 8600] 1000] 9800|71210] £900! 1000 W §o0
e ratio 9:17. The Abhishiic. Bimeland Q.sw..q i ¢ Sdesintheratio2: 3. The area of the lawny) [ _I" ool 13001 700l saof moeol smo) 5%
i partnership. Abhishek j timeg as [ E.Pmccm_.% mﬁaﬁawaﬁﬂhw&\nww%n_mﬁﬁ. L 07. g M 7§ % & v D & 39fRm & ‘ﬂ“o
(C) 24 (D) 12 - Jn\ (A) S0m m et IRieERt @ sftea w2 n..
. much as Bimal inves &.w 1 (C) 40m (D) 10m > What is the average of candidates who &4l _
.o.x_.w @ B, (A + B) I 2/3" of what Chinmay i 105. & Wi S ooo&ﬁ&ﬂ@mwﬂm Wo from state D during the given years
end of the year, amuuﬁom.n nE.:oa is 30 ¥ § 71 B 2 | e \ 901 Mm. mquo
b_mnmaw\_.onw then B is what percent ¥ 5,500. What _m_.:nmwﬁnomnr_ubpm%.w Recfysier 3 7R Rt 2 2 mg%dﬂmmUM 710
LGN DKL . AU s (A) T2,500 (B) 21,500 1 s /.au_v o A cyclist covers a distance of wo.wmﬂ. \W&. W.m & | Bl
(A) 40% ® 283 7% () 1,000 (D)  ¥3,000 Y Y g

2 min 30 sec. What is the speed in W1 I ? -

4“ . , |
P f the cyclist ? oLhe approximate percentage of tofal-
© 3% @ 33 ﬁ_ ST 7 ) 25% T T e ) omar s mras W ?\Mﬁg_ﬂ_,aoﬂs%nu&%wwﬁ&ﬁs s
3234 § _ﬂmu%;faxﬁﬂmaﬂ@ﬂ% C) 186 D) 167
A) ..
(B)

among all the five states in 2003 is
HH 3T TGS "_% T T 12.60 % & ¥ 8, A I 30% ﬁﬂdﬂm@ﬂ%,ﬁ%w%w%ﬂ/ﬂx (LI 3 13 () 164

: 109. 2001 & g
TR S UGS AT BT | TG 1 Hed T R | At 3 ot i 0 8 | af ot st FEA1, 2002 H T T @ Il IeATd
© A man sells an article at a profit of 25%. W 662, T ¥ B s 1 R | <P e GG ST AT Tahael] R & 2
(D) o 37Ty TUEE Qu 0% W e o e &? Of the three numbers, second is twice the Toial number of candidates qualified
The number 323 has \ } m ught it a oE s 4 first and is also thrice the third, If the from all the :wnzam in wcﬂm :ﬂ
(A) No prime wmn:: 5 .F mo_. mm. he wou ve gaine average of the three numbers is 66, find approximately what percentag
F f G total number of candidates qualified from
MWW Hﬂﬂn%ﬂ”_ EM %MMMMM CrOupNh ﬂ_sa g pig T Dotk the smallsst numbet. all the states together in 2002 ?
D) _ Thrgepiae factors ’ T60 (B)T50 (C)X55 (D)X4s (A) 24 §B) 34 (C) 22 @) 36 (A) 82% @BY 6% (C)80% (D
— Ay s h«Tﬁ. e R s T S pe v e T e B a&.ea..v...:!ﬁﬁ L . PP gL T S g v ST TR
GL-4 va« BB fn= 4 I
. E ;)...T 1 O Y
Ve VI



ﬂ@g ..‘. .. .M
110. ﬁﬁm&mw@ﬂﬂmaﬂcmﬁ@m P, v T ey 4,
.@w EiS mﬂu—wmm._& il 3 2 J7 e femmm B g@.ﬂ.ﬁ
Jafleardl o vfowa A 82 IR AN 1Y
In which of the given years Eo..pm"aw“ P T WeT w7 U W15 99747
of candidates appeared from state G bz T HEAT R | 97 ez FABAG | <
: ._.._ In the following question, one word is {
(©) 2004 AUW given, followed by four words, one of 3
el foy e which can be formed using the | . .
T4 B 3 IR W etters of © .
gﬁ&ﬁﬁm&“%ﬂ m_gm&% the given word. Find that word, AR L
1% %ﬁ_ﬂm i 1 SRS DETERMINATION 1@% m.@., _
. What . (A) TERMINATED ol
: ‘) DECLARATION  p%i=Saii |
(€) DEVIATION s Py o
~4}) NATIONAL [N A
13% (1)) Pt | ? 3
w3 st Lz (116, pie H1 HH 1 TE & T HNER e §
ey Tt o s w9 9 @ WA wo@ g
T ?
Which one set of letters when u

sequentially placed at the gaps in the
given letter series shall complete it ? _W&

YR &%AFOFOM%% /i

(A) OSPSRQ  (B) QSSPRQ
(C) QSRSPQ (D) QSPQRQ

117. ez me faedi % & 7% Wt P 54 o
#RFET T T 4T ; . h

»
Choose the correct alternatiye fro

%&: complete the s :
led,47,30,(7) 08

: Y F+D+G+E
-C E+F+D _

=7

18x306 3
=t st; ow_mms.mma:. ‘+' stands for
! multiplication, ‘~+' stands for subtraction
and *x’ stands for addition, then

18x36—6+2+3="7

W12 @18 ©s @3 W17 @) 13 (SRR

H@ﬁ%ﬂﬁﬂ&@ﬂ#%gﬁ 118. 9% Rt 3 @ & 7§ R (X) B @
=3t i U R ; ; :

o e [ ciwshig :

hoose the Venn diagram which best " Choose the correct mirror image of the

«plains relationship among the given :

uman beings, Rats, Doctors - given figure (X) from amongst En.muﬁ

) . (B) O . alternatives. ’ . .
S "o [REJEEDT
@ ® D 6 P
am.,ue 9 | (4) @) aﬁe © @) @0
Py L ::....._....‘..,ur.l,mk ....s,).é,_‘.“ ; M_...”.l.”; - ’-

45

i
-
. ,.I..‘.
M
7
/

e

@ cacn” @) ECU
(C) HGCB (D) CBGH

- Frefafes st & fran P €2
How “many - triangles are there in the
following figure ?

5 (46 \6
(A)23 ®B)21 (C)22 (D) 20
T st TR Y wftew i 3 6 et e
2, T ol ggan 2 3R 11 et wreren R,
T2 grd gar 2 afk 12 feerlt <o &,
T wea & 3 12 Rt =@ R,
TEaT & 31 6 st weran @ | 98

121.

WA frrft gl w2 Y
Ay 1fefi=" (B) 23
© 12 fft (D) 17t

A person moves from home position
towards west by 6 km, then turns right

i

YAt

i A3 R e e s e IR
"4 w. 11, T 3R IV shwifea SR o< Wit § ¢

o) I8 9 FAT 0 R FH /S
m ‘ .ﬁmﬁw\m%%aa PO N
o6 /8 st g v o
7 RecgiddammIwg | .
' o T 14 T Y 3G T Swftawy
% forg v e e S Sy
, T ;o e
8% o T ¥ G IR
B ihah
1L ¥ | T8 Eqel e Rl
G E.}u% | TR TR g STE w it
L w0 % R v g e
21 goed
. Bl | gEd ffaw = H gfg wl

A\ @ smuskivaEil
A(B) FEAFITFEAR | :

0 (C) FEa1sRITEa R

(D) ¥aAIVESEAR |

and moves by 11 km, again turns right |, k_.n__ Question given below consists' of a

and moves by 12 km, again turns right
and moves by 12 km, again turns right
and moves by 6 km. How far that person

statement, followed by four:arguments
numbered I, II, III and IV. You have to

" decide which of the arguments is/are

is from home position ? _ ‘strong’ argument(s) and which is/are
(A) 1km (B) 23km . ‘weak’ argument(s) and accordingly
(C) 12km (D) 17km choose your answer from the alternatives

A 7o ¢ 997 #, u yreg-gm femm N
2, 3u% =g e & w9 § 9 yre2-gm |-
fog e & | vt 9w g g @ R
WG] % T A HEY g | :
ufy : Cemew

(A) " HIA (B) SRR P
(€ sm:feeft (D) wiwwsh ;¥
In the below given question, a pair of
words is given, followed by four pairs of
words as altemnatives, You
to choose the pair in which the words
have the same relationship.

Gland : Enzyme

(A) Brain : Cortex

(B) Generator : Current

(C) Organ :Kidney

(D) Muscle : Spasm

122.

given below the question.  ©

Statement : Should education be made:
- compulsory for all children upto the age
1 of 14 years 7 e B
o+ Arguments : 3

I Yes. This will help to eradicate the

e system of forced employment of

these children,

IL  Yes. This is an effective way to make

“%F  the entire population educated.

{ III. No. We do not have adequate
are required infrastructure to educate the entire
* population.
IV. Yes. This would increase the
standard of living,
(A) Only Il and IV are strong.
(B)  Only Il is strong.
~ (C) OnlyIandII are strong.
(D) Only1V is strong.
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Slatement
numbered |

is/are implicit in the statement.
tatement : “Do not enter — avoid the
isk' of getting infected with the ABC
disease” — Written outside the quarantine
. 4 (meant only for ABC discase)
hospital.”

umptions :

' Disease “ABC” is contagious

All the patients in ward no. 4 suffer
| : from disease ABC.

S~ (A) Neither I nor Il is implicit.

2 (B)  Only assumption I is implicit.

(C) BothIand II are implicit.

(D) Only assumption I is implicit,

W. €. 1258129 &Wn@gﬁﬂ%ﬂa ﬁﬁmﬁm&ﬂ
RS ™ ST :
Tereft st oeft 3 v 3 e Prafere ardand # 1

HH&%T
(a) F9 8 T 60% 31 % @Y hFEHT
b) 1 58 .qaﬂw,u_ﬂ k| mﬂ%ﬁ
( » 2006 %! F9 ¥ HY 21 99 .

st s T w g R

| 1. 3 ()8,
| @mems

Q.
information carefully and answer the questions
iven below ;
‘ollowing are the qualifications for post in a
reputed company.

fferftaa s w99 8 e

However, if a candidate fulfills the above
mentioned criteria, exce

0l o HEAT R |
4, T FH A FA 25
3 3 Sttt
/% 3o W TRy §,

i%&u&ﬂﬂ | 7 T+t e

(faa) %a&ﬂﬂmﬁﬁm_
Nos. 125 to 129 7 Study the following

e candidate must-

(a) be an Engineering graduate with at least
60% u._m_.mm.

(b) be not less than 21 years and not more

than 235 years of age as on 1* May 2006. -

have passed the selection test with at

least 55% marks.

be willing to pay a deposit of T 50,000,

*o be refunded on completion of training.

(c)
(d)

t
I. At(a)above, but num.m peared for the last
semester mxun._mzm.no:mgn has obtained
an aggregate of minimum 65% marks in
first seven semesters, his/her case may be
referred to the President of the company.
II. At (d) above, but is willing to pay an
amount of at least ¥ 25,000 and has
obtained at least 70% marks at Engineering
degree, the case may be referred to the
General Manager of the non._ﬁﬁh_w.
In each of the following questions, details of
the candidate are given as regards his/her
candidature. You have to read the information
provided and decide his/her status based on the
iven above and the information
ou are not to assume anythin,
other than the information provided in each o
the following questions. All these cases are
given to you as on 1% May, 2006.

S 8 T 55% 3 $
M- Dl conditons
(d) 50,000} 51 TR Wy ok wy g | PIOVAAS
%ﬂﬂ@ﬂa@ﬁﬂﬁﬁq@ﬂﬂ
Qe | .
m..-ual”..—).-\-i; 2 e LTy .—Q

LA TRV i P ISR TV P SIS TP 0 TN T Y o

A

Q- 3 4  EDE5 Q)
v@\@@\ O e ]
_um.&&a%%% 127. =M Rwa S H 3k
AT PRI FAATAL0Y% |- whem F wmider gan & SR o
I TRmFA S R M BRITE || R | I g T AR H W vlw i wow
mﬂﬁmﬂﬂn@_ - oft iR < e T # E 22w A
G h WG AR 1IE |7 gy R | 3§ o % w9 T 50,0006
BT | gt mé Tl e BT
; TS | T R | I 58% 3 F A W g
ferg : Rl . y SEUARI :
Rt Mfre i He e | , &Wﬁiﬂm_

- (B) =l fomn S |

126.

(C) WETYEYsh I A1 ST |

(D) =g fomen 5@ |

Diptesh has appeared for the Ilast
semester of engineering degree exam and
is hoping to score at least 80%. His
aggregate score upto first
semesters is 75%. He has just completed

21 years of age. He has scored 66% |:

marks in the selection test and is ready to
pay an amount of ¥ 50,000 as deposit.

(A) Tobe referred to Company President. |*

(B) Not to be selected.

(C) To be referred to General Manager. |

(D) To be selected.

TTE 68% 3 H Ty 2003 # Sl uw :
HTEE TS ® | Seitfwaior o ferft wfter |2

%A F WIe I FreAd o Rrdwwer % wy

o

%Tuﬁw%ﬁiwaﬂmﬁ

Aol it & | 98 T 50,000 1 I |
TR T T H T B | I TR

15 forde, 19822 1
(A) ot aferEe S o o |
(B) == El foran wmem |
(C) WRINSUH ) BT e |
o= foar s |

ahi is an IT engineer passed out in
2003 with 68% marks. After getting the
engineering degree, she has done MBA
with specialization in Finance. She has
cleared the selection test with 60%

marks. She can pay the deposit of
T 50,000. Her date of birth is 15%
September, 1982.

(A) Tobereferred to Company President.
(B) Notto be selected.

(C) To bereferred to General Manager.
(D) To be selected.

seven

128.

(B) WEINEYS i WA ST |

(C) o Mz i S smem |

(D) =mfEmesm@n)

Shyam has appeared for the last semester
examination of Mechanical Engineering
and the results are awaited. He secured
first class in each of the first seven
semesters. He has recently completed 22
years of age. He has no problem in
paying the required amount of ¥ 50,000
as deposit. He has passed the selection
test with 58% marks, N

(A) Data inadequate. \

(B) To be referred to General Manager.
(C) To be referred to Company President.
(D) To be selected.

T I SH, 2005 F 79% IF® ¥ A™
Ffeper geitftvafln 6t fofi om & | 98
=77 qlen § wite g, @ 38 70%
afepl % @y ol R | Iaeh SR 28
9, 1983 8 198 T 50,000 A S fRAfyf @ ™
7 8, afFT 9w % ¥9 F 730,000 w1,

PRAAFAR TR - oy
vl

(A) STTIAE@R )

(B) = 7 foan smam |
(CY” TRTTEY ¥ ST |
(D) <= R s |
Shreya has passed out Chemical
Engineering Degree in June, 2005 with
79% marks. She appeared for the
selection test which she cleared with
70% marks. Her date of birth is 28" June
1983, She is not in a position to pay
50,000 but will arrange to pay < 30,000
as deposit. :

(A) Data inadequate.

(B) Not to be selected.

(C) To be referred to General Manager.

T N AT RN s
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(D) To be selected. .
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e N -
q . T .
129, Frem e g S R, FE 2003 _maaaa,ﬁ% o § ¥ &
. mu_a%ﬁm%&g.ﬂﬁ% | i o zﬂu.m M_MJEﬂﬁ%
£ | v fot e i 76% 3 S FH y B _
e i 725 3 T PR | 8 51 & &9 y
? HE T E HH N& .mhﬂ._.

3 7 50,000 71 TR 1 TTAH HLHHA
(A) e e St S e |
(B) =R ¥ far ST |

D %ﬁqﬂsﬂﬂﬂﬁﬁwaﬁﬁ&
|

You are stationed as a police officer; a

distressed father approaches you saying

his 23 year old daughter has eloped with

her boyfriend. As per Supreme Court

directives, you should :

(A) refer complaint to village council
for settlement.

(B) support reconciliation without
criminal charge if consensual,

(C) arrest the boyfriend on charges of

enticement,

132.

(D) file a kidnapping case and
investigate.

..‘..._1.%»4.32_ + 1 AT TR |

12 1 wdwiE A Eeh) @ -

e % ferg were S AR |

s wAfeE Wi ﬁ:&nﬁ

ST T T ST SR |

)T T g S () IR g .

TETTHA WEH T =R |
1ou are stationed as a police officer;
u receive intelligence of an inter-
lizious  couple facing harassment
threats from fringe outfits.’ You should :
(A} refer them to protection officers
as per procedures.
(B) counsel the couple to avoid public
interactions.
(C) suggest their voluntary physical
separation.
(D) provide security cover and safe
transit for the couple.

1 ww gferm srfuedt F w9 § &

TEEA & G 9 faae $1 e e

gfges ¥Hi 4 Fava® dId §g B h

el &) B | YR Wi

(A) 3 FedTe HRATE $ A8 AT
3 Y[ ST SR | S

(B) "ol o i fqaTe HHMH He

(C) wEeph gfE R e

(D) srauE 6 yateat % R R
1571 1 T TR T =R |

You are stationed as a police officer;

agitated labour unions threaten to stop

essential services over wage disputes

with management. You should :

(A) impose fines and charges for
illegal strike action. :

(B) assist dispute resolution dialogue
between stakeholders.

(C) forcibly stop attempts to block
critical infrastructure.

(D) arrest union leaders immediately
for disruption threats.

N TR A P TR NS (ST P e e T P AT IR
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A

~ then ‘offers a personal settlement and
~ closure help. You should :
= (A) secretly accept settlement while

* (B) commiit to investigate the fraud {

134,

133.

%&ﬁiﬂw%&?&!ﬂﬂ A
i fprga # fireft 2 5t e Freem

3R T 2 TR I AE K R |
(A) T = 2 G @ WA TR

Pruer (emsitan) = wfwR w0 |

R |
(B) gy < ot 3 Freve wig w
% fye whrerg 891 =178 |

(C) Trh oft 3= maE W1 Fpid 6 amy |

SR wite =Y e =R |

(D) Siter % 8d QT 38T WA Ty :

J 37ifers §9 g AR |
You inherited investigation into
corporate fraud by an industrialist who

declaring case closed

) “fully and impartially
(C) avoid
‘. witnesses or records X
(D) partly deviate from incriminating
. evidences under legal scrutiny
39 TH .
I o arma genadi it SEen
) gors & fore, et
(A) TRwR®s WeEkin % A d
SR et T R FA] =M |
(B) Ty &fg smar it gof dey
rET3fdn st = fET |

(D) fius sy shem o ot dg |

el | qears e wiR |
You are stationed as a police officer; to
solve a series of undetected homicides in
your jurisdiction, you should :
(A) study behavioural patterns through
psychological profiling

(B) complete DNA profiling of entire .

regional population :
(C) data mine CCTV cameras using
facial recognition scans

1
135.

examining any further |

aifterrt % w9 7 & §; |

(D) question all existing convicts
with violent crime history

WV gy, -

39 & T gRre R § ge-tde
# | 3177 o ot a9l @ S Rw § v
R R § ik v A 3R T &
Y TR HA=ST & TR
. F HR, T wglt
qfer 2oy & SR B o 2 gt
T AP W 5 TR 3 A
FreT gear & | ! IR 5 17 we

e 3 gAY aeeE & L3 :

LRJ% Y s ¥ WieR FET

wfew 3k ieg 8 WA Rym w@

o 31 Y IEtg FH IRy |
@%%ﬁﬂ%fwﬂaw

s fod & w9 7 EHR o ik

3 gg et T  forg dam
T FRY | Fu

(C) Tt 3= amfior WY R wmiar
1 \in T =ifEe @l 3 g
H1 3 Bl S W@ |

(D) SIHO & HH H FFT FAT
w1t 3 wmfior ReW F 393 St
37 ITwIfaRrt <1 gaTen AT 91RY |

You are a sub-inspector in a rural police
station. You have been working in the
same station for the past five years and
have developed a good rapport with the
local people and the administration.
However, due to a reshuffle, you are
transferred to an urban police station
where you have to deal with a different
set of problems and people. You feel that
this is a difficult and stressful change.
You should : £

(A) accept the transfer reluctantly and
hope to get back to the rural station
S00mn.

(B) accept the transfer as a part of your
career growth and prepare yourself
for the urban challenges.

(C) seek a transfer to another rural
station where you can continue
your work and interests.

(D) request for a cancellation of the
transfer and cite your performance

and achievements in the rural
station.

e L T RN AT O LTV

19

GL-4




| S R (E
(D) R aREER

ns to accomplished
ersonal  news until

? Ived before focusing
» o

S gy U
ey

F mriz b Sac et SR 1
S et = fervereo e e |

C), ¥ Jmeid Pewm % R dfedt
fr W =fema ®9 ¥ THEED B w5
TATEH HTeh hic] HAT TRY |
(D) =7 3@ T IR Tl & vy &
i ;
wfE e =i | %
When Investigating identity theft and
_Buvﬂ.mo:m:os crimes, you should :
(A) analyze IT assets of suspects
searched under warrants for tools,
obtain court authority to reverse-
engineer any phishing Kits retrieved.

(B)

(C) personally call victims i
W;oi_namn to nwﬂmﬁnﬁm%u
information.

(D)  setup ethical hacking traps portraying

as criminal buyers on dark web.

NP T P PIRATIEY S AL T T e g

139.

. As a police officer, certain _tribes
noﬂ_ﬂww.nn of bein sa.onm_m deemed
. habi offenders, @o: should : o by

IR IETC I e g

IR 0% ATl B oM iRy |

(C) e wfustl | e smreswar
AT T =Ry |

D) R et ffe-farst w5 e
<1 AT ST T EETe A =R |

4 police officer, certain religious

are ﬁ.S.ﬁwm &on%ww._m nal

ahts for widowed, di

T women. You wroEMww.nm 7y

Iss cases outright 'if norms

r:fgnns_onmmooouﬁn."mhﬂro
cormmunity. A

refer cases to fast track courts i
minimizing delays.

run a district awareness campaigns
drive on gender rights, P

AQ
(D) cite laws su din )
ﬂ.mn:ao:m_ ncmﬂoamomwwa g unfair

Lc STl &% w9 4, 55 seenfaat
R e
T st € | el

(B)

(A) =& (==rifs) i
Tt & T Rrerraa wis
Frfiyd T =nfE |

(B) dfud waenfeal % orfremiat =1

wd 7y fafauar s
A
(C) wewifar i+

Al : b

(D) Wi WS W ! .,wﬂww 3
. fow =g o w et e A
AT =R | B i 2l

(A) setup watchdog complaint cells to
monitor forced confessions.
(B) enforce diversity quotas employing

officers from marginalized tribes.
table meetings with communities to
_.,nm_ﬂmd engagement Nﬁﬁncmnrmm—.u. i
implement =~ mass counselling
E%mﬂaﬁ to reorient traditional beliefs.
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As a police officer, you are involved in a

criminal investigation. Which of the

_+_following is the name of the document
. that you have to submit to the court after
" completing the investigationi ?

-, (A) -Bail Application

(B) Charge Sheet

(C)  Arrest Warrant

(D) FirstInforaton Report
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Which aspect of community policing
resonates you most ?
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Find suitable alternative in Pplace of °
~question mark (?).

' Russia : Moscow : : Greece : (D :
~(A) Tokyo (B) ﬁb.o..., T
£~ (C) London (D) bn._o:w o /
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As a police officer, certain - groups
demand amendments in laws upholding
LGBTQ rights, against = traditional
religious sentiments. You should :
" (A) depute human rights commissions

i)

(A) Responding quickly and directly engaging representatives,
cificiently ~to  emergencies (B) make preventive arrests of radical
reparted by the commmumity. fringe  elements threatenin,

(B) Building trust and rapport with s ¢
residents to prevent problems, Yiokenes, ; : ;

(C) Using advanced technology like je) i s ﬁ..:..aﬁ.z.aw _:Snwn:o:w
drones and  cameras Tor harmonizing religious doctrines.
surveillance. (D) lead localized awareness

(D) Increasing police visibility and campaigns empowering inclusive
patrols to deter crime. lifestyles.
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10¢ se the correct alternative from the
ot will complete the series.
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In a certain code language, “ROMAN” is
245 @ written as “IFDAE”. How would

A “WATER” be written in that code ?
- (A) AEBEI (B) EIBAE
| (C) IFAEB (D) EABEI
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A person moves from home position
towards east by 10.km, then turns right

-moves by 11 km, agam turns right and
- moves by 5 km, again. turns left and
. moves by 1 km. How far that pcrson is
' from home position ? i
~(A) 6km

“(C) 2km -

147,

(B) 16km ‘

(D) 15km |
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In. following question, some words | are |l
given. They have some common featy ir

“except the odd one. You are reqmred to
find the odd one out. !
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~and moves by 5 km, again turns right and
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If a meaningful English word has to be
formed using 1%, 3", 5% and 8" letters of
the word (each letter to be used once
only) “SOUVENIR”, then how
such words can be formed ?

(A) morethan3 (B) 2
{Cy 3 D) 1
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A clock is started at noon. By 20 minutes
past 5, the hour hand has turned through

- (A) 1e0° (B) 150°

e C) 21552 - (D) 145°
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Among her children, Ganga’s favourites
are Ram and Rekha. Rekha is the mother
. of Sharad, who is loved most by his
~ uncle ‘Mithun. The head of the family is .
““Ram Lal who is succeeded by his sons
Gopal ‘and Mohan. "Gopal and Ganga

have been married for 35 years and have

'3 children. How. is Mithun related to
Mohan 74
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(A) Bow (B) Quay ~ (A) Nephew (B) Son
(C)  Stemn Deck . _(C) Brother (D) Uncle
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